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1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
4 3 0,9 10C3 62 0,6 2 18 18 210 2 BCP BEPXIBKOBHI! KOPOiZ 5 He BusasneHo
4 4 1,2 10C3 62 0,6 2 18 20 | 210 2 BCP BEPXiBKOBHI KOpOiX 5 He Bugsneno
7 9 8,7 10C3 63 | 0,65 1 23 26 320 2 BCP BEpXiBKOBHIT KOpOIn 35 He Bussneno
8 10 2.4 10C3 62 { 0,65 | 22 26 305 2 BCP BEpXiBKOBHit KOPOiX 5 He BusBieHo
8 12 3,1 10C3 62 | 0,65 1 23 26 335 2 BCP BEPXiBKOBHH KOPOIA 10 He susgsneno
8 11 0,9 10C3+bo+/T3 63 | 0,45 1 21 24 195 2 BCP BEPXiBKOBHH KOpOin 15 He BussiaeHo
12 16 0,2 10C3 50 | 0,5 2 17 18 160 2 BCP COCHOBI 3N1aTKK 5 He sussaeno
? 15 10 0,5 10C3 69 0,6 1 23 28 290 2 BCP BEPXiBKOBH}1 KOPOin 5 He sussneno
;‘:"[ 19 15 3,7 10C3 69 0,7 1 24 26 370 2 BCpP BepxiBKOBHIT KOPOIN 10 He BussicHo
19 16 8,1 10C3 70 | 0,65 1 24 26 355 2 BCP BEPXiBKOBHI KOPOiX 15 He sussneno
23 8 1,0 10C3+bn 61 | 0,65]| la 23 26 325 2 BCP BEPXIBKOBHIT KOPORL 20 He Bussaeno
23 10 3,9 9C 3(185)1C3(80)+C3(45)+Knc+/Ing 185 | 0,25 3 25 56 115 2 BCP KOPOiZ THIIOTPad 20 He Bugsaeno
23 16 2,6 10C3 75 1 0,65 1 25 30 360 2 BCP BEPXIBKOBHH KOPOia 5 He BussneHo
27 17 5,1 10C3 75 0,7 1 24 28 360 2 BCP COCHOBI JyGoimm 15 He BusasneHo
27 18 0.8 10C3 74 | 0,45 1 23 30 | 230 2 BCP CcocHOBI styBoinu 5 He susasieno
27 19 0,5 10C3 61 0,5 1 20 22 210 2 BCP BepXiBKOBHIt KOpOin 10 He Bussieno




27 20 3,0 10C3(75)+C3(125) 75 0,5 ] 25 30 | 275 2 BCP COCHOBI TyGOiaN 20 He Busisaeno
27 21 0,1 10C3 75 0,3 1 23 32 170 2 BCP UIeCTH3YOMH KOpoin 30 He BusiBieHo
27 22 0,2 10C3 75 0,3 1 23 32 170 2 BCP wecTusy6mit kopoin 25 He Buss:ieHo
27 23 0,6 10C3+Kac 75 0,5 1 24 30 270 2 BCP wiecTu3yGuit kopoin 20 He Bussacho
27 24 0,3 10C3 54 | 045 1 20 22 190 2 BCP COCHOBI 31aTKH 20 He Bussneno
27 25 1,7 10C3 101 | 0,45 2 26 32 270 2 BCP wiecTH3y6mit kopoin 30 He Bussaeno
27 26 2,1 10C3 70 0,6 1 24 30 320 2 BCP COCHOBI JIy60inm 30 He Busisaeno
27 29 0,7 10C3 95 0.4 1 27 32 245 2 BCP COcHOBI JIy6oinn 10 He sussneno
N 31 18 1,9 6C3(85)4C3(65) 85 ] 045 ! 26 28 | 235 2 BCP COCKOBi y6oizn 15 He Bussneno
= 31 19 1,2 10C3 105 | 0,6 2 27 36 | 370 2 BCP COCHOBI nTyGoimn 15 He Busineno
= 31 21 2,9 10C3 95 0,5 2 26 32 | 300 2 BCP COCHOBI Ty60inH 10 He Busineno
31 23 0,5 10C3 85 | 0,65 1 26 30 380 2 BCP COCHOBI JTy60inn 5 He BussneHo
31 25 0,6 10C3 57 0,6 la 22 24 295 2 BCP BEPXiBKOBHIT KOPOizL b He Bussneno
31 26 2.8 7C3(85)3C3(70) 85 10,55 | 26 32 | 320 2 BCP COCHOBI JTy6oin 10 He sussneno
31 27 0,9 8C3(64)2C3(79) 64 { 0,65 2 19 24 270 2 BCP mecTn3yGuit Kopoin 10 He Bussneno
31 31 1,9 10C3 95 1045 2 25 32 ] 250 2 BCP COCHOBi JTyGoinm 10 He Busineno
31 32 0,5 8C32bn 43 0,4 2 15 16 105 2 BCP uiecTH3yGuit Kopoin S He BusBneHo
31 34 0.9 10C3(90)+C3(40) 90 | 0,45 I 26 36 | 245 2 BCP cocHosi y6oinu 5 He Bussneno
31 22 14 5C3(95)5C3(65) 95 0,6 2 24 36 | 280 2 BCP COCHOBi JTy6oinm 5 He Busisneno
31 29 0,9 7C3(56)3C3(96) 56 ] 0,55 2 18 20 | 225 2 BCP BEPXiBKOBHH KOPOia 15 He BusBneno
Paiov no launomy n-sy 68,7
8 | 1,4 10C3 86 | 0,55 2 22 28 250 2 BCP BEPXIBKOBHH KOpOi 5 He Busasneno
8 3 1,8 10C3 86 0,6 3 20 26 215 2 BCP BEPXiBKOBMIi KOOIz 5 He Bussneno
8 4 2.0 10C3 86 0,6 2 24 30 315 2 BCP BEPXiBKOBHIT KOpOiR 5 He Buss;ieHo
8 6 1,6 10C3 86 0,6 2 23 28 295 2 BCP BEPXiBKOBHIH Kopoin 7 He sussaeto
8 9 1,4 10C3 86 { 0.25 2 22 28 140 2 BCP BEPXIBKOBHH KOPOIL 5 He BusBnexo
8 12 0,6 10C3 86 0,6 2 23 28 295 2 BCP BEPXiBKOBHI KOPOiL 5 He Bussneno
8 17 7.2 10C3 86 | 0,55 2 24 30 290 2 BCP BEPXIBKOBHI KOPOIN 5 He Buasneno
» 12 8 2,0 10C3 96 1 0,55 2 24 32 290 2 BCP wecTH3y6ui Kopoin 5 He BusBneno
g 12 9 0,5 10C3 96 0,6 1 27 32 365 2 BCP wiecTH3yGuit kopoin 5 He Bussaeno
E 12 11 2,0 10C3 86 | 0,55 2 24 30 280 2 BCP BEPXIBKOBMH KOpoia 5 He Busgaeno
(:“: 13 4 1,2 10C3+/13 86 0,5 1 25 32 270 2 BCP BEPXiBKOBHIH KOPOI 5 He Buasaeno
s 13 5 0,4 10C3(56)+C3(96) 56 1 0,65]| la 22 26 | 300 2 BCP BEPXiBKOBHH KOpOin 3 He BusBieno
i 13 13 08 8C3(63)2C3(93) 63 { 0,65 2 18 22 235 2 BCP BEPXiBKOBHI KOPOinL 5 He Bussaeno
13 21 1,7 10C3+13 86 0,5 1 25 36 270 2 BCP BEPXIBKOBUI KOPOiX 5 He sussneno
13 23 1,4 8C3(95)2C3(60) 95 | 0,55 3 Y| 32 | 200 2 BCP KOpoiz THnorpad 7 He Bussneno
13 25 4,6 10C3 86 | 0,65 1 26 32 | 375 2 BCP BepXiBKkOBMIT KOpOiA 7 He Bussneno
13 28 0,2 9C3(56)1C3(86) 56 | 0,45 2 16 18 155 2 BCP COCHOBI NyBoinm 10 He Bussneno
14 1 1,6 10C3+Bpc 91 0,5 1 27 32 300 2 BCP KOpoin THnorpad 5 He Bussneno
14 6 0,8 7C3(62)3C3(82) 62 | 0,65 1 20 22 | 280 2 BCP BEPXiBKOBHIT KOpOIA 5 He Bussneno
14 20 5.8 10C3 83 | 0,65 | 26 30 370 2 BCP BEPXIBKOBHIf KOpoin 5 He sussneno
14 21 3 10C3 83 0,6 ] 25 28 330 2 BCP BEPXiBKOBHI KOPOIn 5 He BusBneno




I5 1 5,1 10C3 86 0.6 ] 26 30 340 2 BCP BEPXIBKOBHiI KOPOiL 5 He Bussneno
15 5 1.8 7C3(82)3C3(62) 82 0.6 2 23 36 260 2 BCP BEPXiBKOBMI KOpoia 5 He susiBaeno
15 9 4,2 10C3 86 | 0.65 | 28 30 410 2 BCP BEPXiBKOBMIt KOpOin 6 He Busgieno
15 11 0,8 10C3 86 0,5 3 20 26 180 2 BCP BEPXIBKOBHi1 kOpOiL 5 He BusiBneno
o 15 12 0,5 10C3 86 0,6 1 25 28 330 2 BCP BEPXIBKOBMIT KOOIl 5 He Bussneno
§ 16 2 2,9 10C3+]13 81 0.6 1 26 28 345 2 BCP BEPXiBKOBHIT KOpOin 5 He sussneno
5 20 27 0,9 8C32/I3 53105 2 [ 18] 26 [160] 2 | BCP cocrosi 3naTkn 5 He usnneno
.(2 23 26 0,3 4C3(75)3C3(175)3/13 75 0.3 1 23 30 125 2 BCP COCHOBI 3)1aTKM 5 He Bussseno
% 23 27 0,4 10C3 64 0,6 | 23 28 290 2 BCP BEPXiBKOBHIT KOpOi 5 He Bussneno
= 23 28 0,8 10C3 49 | 0,6 3 12 14 1130 2 | Bcp BepXiBKOBHH KOpOiz 10 He susBaeno
26 32 0,4 10C3+13 54 { 0,55 2 16 20 160 2 BCP BEPXIBKOBHi1 KOPOin 10 He BusBneno
26 33 0,6 6C34/13 66 0,5 2 19 26 150 2 BCP COCHOBI 31aTKH 5 He sussneno
30 10 0,5 10C3 63 0.5 2 20 26 200 2 BCP COCHOBI Jiy6oinm 10 He BusiBneno
30 11 0,9 10C3 63 | 05 2 20 26 | 205 2 BCP COCHOBI Ty6oinn 10 He sussnieno
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